
 d' ubK ftZu o/yh ;wheoB (Linear Equation in Two Variables) 
o/yh ;wheoBK (linear Equations) 𝑎1𝑥 + 𝑏1𝑦 + 𝑐1 = 0 ns/ 𝑎2𝑥 + 𝑏2𝑦 + 𝑐2 = 0 
 

bVh Bz 
(serial 

No.) 

;aos 
(Condition) 

jZb (Solution) nkb/y (Graph) ;wheoBK 
(Equation) 

1 
𝒂𝟏

𝒂𝟐
≠

𝒃𝟏

𝒃𝟐
 

ftbZyD jZb 
(Unique Solution) 

ekNthnK o/yktK 
(Intersecting Lines) 

;zrs 
(Consistent) 

2 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
=

𝒄𝟏

𝒄𝟐
 

nB/eK jZb 
(Infinitely many 

Solutions) 

;zgksh o/yktK 
(Coincident Lines) 

;zrs 
(Consistent) 

3 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
≠

𝒄𝟏

𝒄𝟐
 

e'Jh jZb BjhA 
(No Solution) 

;wKso o/yktK 
(Parallel Lines) 

n;zrs 
(Inconsistent) 

 



Chapter 3 LINEAR EQUATIONS 

ryKI smIkrnW  

1. d' ubK ftZu o/yh ;wheoB dk nkb/y HHHHHHHHH j?. The graph of linear equations in two variables is… 

a) teo Curve     b)   ;ob o/yk Straight Line    

c)  g?okp'bk Parabola   d) e'Jh BjhA None 

 

2. id'A d' o/yh ;wheoBK dk nkb/y fJZe fpzd{ s/ eZNdk j? sK HHHHHHHHHHHHHHH j?.  
If the graph of linear equations intersects at a point then the solution is…. 

a) ftbZyD jZb  Unique Solution  b)  e'Jh jZb BjhA No Solution  

c)  nB/eK jZb Infinitely many solutions d) d' jZb Two Solutions 

 

3. id'A o/yh ;wheoBK dk nkb/y ;zgksh o/yktK j? sK T[;dk HHHHHHHHHHHHHH j?. 

If the graph of linear equations is coincident lines then the solution is…… 

a) ftbZyD jZb  Unique Solution  b)  e'Jh jZb BjhA No Solution  

c)  nB/eK jZb Infinitely many solutions d) d' jZb Two Solutions 

 

4. id'A o/yh ;wheoBK dk nkb/y ;wKso o/yktK j? sK T[;dk HHHHHHHHHHHH j?. 

If the graph of linear equations is parallel lines then the solution is….. 

a) ftbZyD jZb  Unique Solution  b)  e'Jh jZb BjhA No Solution  

c)  nB/eK jZb Infinitely many solutions  d) d' jZb Two Solutions 

 

5. id'A o/yh ;wheoBK dk ftbZyD jZb j? sK  If the linear equations has a unique solution then… 

a) 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
   b)  

𝒂𝟏

𝒂𝟐
≠

𝒃𝟏

𝒃𝟐
  c)   

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
=

𝒄𝟏

𝒄𝟐
  d)  

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
≠

𝒄𝟏

𝒄𝟐
  

 

6. id'A o/yh ;wheoBK dk e'Jh jZb BjhA j? sK If the linear equations has no solution then.. 

a) 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
   b)  

𝒂𝟏

𝒂𝟐
≠

𝒃𝟏

𝒃𝟐
  c)   

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
=

𝒄𝟏

𝒄𝟐
  d)  

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
≠

𝒄𝟏

𝒄𝟐
 

 

7. id'A o/yh ;wheoBK d/ nB/eK jZb jB sK If the linear equations has infinitely many solutions then.. 

a) 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
   b)  

𝒂𝟏

𝒂𝟐
≠

𝒃𝟏

𝒃𝟐
  c)   

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
=

𝒄𝟏

𝒄𝟐
  d)  

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
≠

𝒄𝟏

𝒄𝟐
 

 

8. j/mK fbfynK ftZu'A o/yh ;wheoBK d/ i'V/ d/ n;zrs jZb dh ;aos dZ;'. 

The condition of inconsistency of the pair of linear equations is 

a) 
𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
   b)  

𝒂𝟏

𝒂𝟐
≠

𝒃𝟏

𝒃𝟐
  c)   

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
=

𝒄𝟏

𝒄𝟐
  d)  

𝒂𝟏

𝒂𝟐
=

𝒃𝟏

𝒃𝟐
≠

𝒄𝟏

𝒄𝟐
 

 

9. j/mK fbfynK ftZu'A fejV/ o/yh ;wheoB i'V/ dk nkb/y ;zgksh o/yktK j?  

Which of the following pair of equations has coincident lines? 

a) 𝟐𝒙 − 𝟑𝒚 = 𝟓, 𝟑𝒙 − 𝟐𝒚 = 𝟔  c) 𝟒𝒙 + 𝟐𝒚 = 𝟖, 𝟐𝒙 + 𝒚 = 𝟒 

b) 𝟒𝒙 − 𝟓𝒚 = 𝟔, 𝟖𝒙 − 𝟏𝟎𝒚 = 𝟔  d) 𝟑𝒙 − 𝒚 = 𝟓, 𝟔𝒙 − 𝟏𝟎𝒚 = 𝟏𝟎 



10. j/mK fbfynK ftZu'A fejV/ ;wheoB i'V/ dk nkb/y ekNthnK o/yktK j?L 
Which of the following pair has intersecting lines? 

a) 𝟒𝒙 − 𝒚 = 𝟑, 𝟖𝒙 − 𝟐𝒚 = 𝟔  c) 𝟑𝒙 + 𝟐𝒚 = 𝟓, 𝟗𝒙 + 𝟔𝒚 = 𝟏𝟎 

b) 𝟑𝒙 − 𝟐𝒚 + 𝟓, 𝟔𝒙 + 𝟒𝒚 = 𝟏𝟎  d) 𝟐𝒙 − 𝟓𝒚 = 𝟑, 𝟔𝒙 − 𝟏𝟎𝒚 = 𝟔 

 

11. i/ ;wheoBK d/ nkb/y dk ekN fpzd{ (−𝟐, 𝟑) j? ns/ 𝟑𝒙 + 𝒎𝒚 = 𝟑 j? sK 𝒎 = 

If the equations has intersecting point is (−𝟐, 𝟑)  and 𝟑𝒙 + 𝒎𝒚 = 𝟑 then 𝒎 =  

a) −𝟑   b)  𝟒   c)  −𝟒   d)  𝟑 

 

12. ;wheoB 𝟐𝒙 + 𝟑𝒚 − 𝟖 = 𝟎 dh d{;oh ;wheoB dZ;', fi; Bkb i'V/ d/ nB/eK jZb j'DL 
Find another equation of 𝟐𝒙 + 𝟑𝒚 − 𝟖 = 𝟎 which has infinitely many solutions  

a) 𝟒𝒙 − 𝟔𝒚 − 𝟏𝟔 = 𝟎 b)  𝟔𝒙 + 𝟗𝒚 − 𝟏𝟔 = 𝟎 c)  𝒙 +
𝟑

𝟐
𝒚 − 𝟒 = 𝟎 d)  𝒙 + 𝟔𝒚 − 𝟏𝟔 = 𝟎 

 

13. ;wheoBK 𝟐𝒙 + 𝟑𝒚 = 𝟓 ns/ 𝒙 + 𝟑𝒚 = 𝟕 ftZu 𝒙 dk w[Zb gsk eo'. 

Solve for 𝒙:  𝟐𝒙 + 𝟑𝒚 = 𝟓 𝐚𝐧𝐝 𝒙 + 𝟑𝒚 = 𝟕 

a) −𝟐   b)  𝟐   c)  𝟑   d)  −𝟒 

 

14. ;wheoBK 𝟒𝒙 − 𝟓𝒚 = 𝟖 ns/ −𝟒𝒙 + 𝟑𝒚 = 𝟒 ftZu 𝒚 dk w[Zb gsk eo'. 

Solve for 𝒚:  𝟒𝒙 − 𝟓𝒚 = 𝟖 𝐚𝐧𝐝 − 𝟒𝒙 + 𝟑𝒚 = 𝟒 

a) −𝟒   b)  𝟔   c)  −𝟔   d)  𝟒 

 

15. ;wheoBK √𝟐𝒙 + √𝟑𝒚 = 𝟎 ns/ √𝟑𝒙 − √𝟖𝒚 = 𝟎 dk jZb  Solve √𝟐𝒙 + √𝟑𝒚 = 𝟎 𝐚𝐧𝐝 √𝟑𝒙 − √𝟖𝒚 = 𝟎  

a) √𝟐, −√𝟐  b)  √𝟓, √𝟑  c)  −√𝟐, √𝟑  d)  (𝟎, 𝟎) 

 

16. ;wheoBK 𝒙 + 𝒚 = 𝟖 ns/ 𝒙 − 𝒚 = 𝟐 dk jZb  𝐒𝐨𝐥𝐯𝐞 𝒙 + 𝒚 = 𝟖  𝐚𝐧𝐝 𝒙 − 𝒚 = 𝟐 

a)  𝟓, 𝟑   b)  𝟔, 𝟒   c)  𝟕, 𝟓   d)  𝟔, 𝟐 

 

17. 𝒌 dk w[Zb gsk eo', i/ ;wheoBK 𝟑𝒙 + 𝟓𝒚 = 𝟖 ns/ 𝒌𝒙 + 𝟐𝒚 = 𝟗 dk ftbZyD jZb j?< 

𝐅𝐨𝐫 𝐰𝐡𝐚𝐭 𝐯𝐚𝐥𝐮𝐞 𝐟𝐨𝐫 𝒌: 𝐭𝐡𝐞 𝐞𝐪𝐮𝐚𝐭𝐢𝐨𝐧𝐬 𝟑𝒙 + 𝟓𝒚 = 𝟖 𝐚𝐧𝐝 𝒌𝒙 + 𝟐𝒚 = 𝟗 𝐡𝐚𝐬 𝐮𝐧𝐢𝐪𝐮𝐞 𝐬𝐨𝐥𝐮𝐭𝐢𝐨𝐧  

a) 𝒌 ≠
𝟓

𝟔
   b)  𝒌 ≠

𝟓

𝟒
  c)  𝒌 ≠

𝟔

𝟓
  d)  𝒌 ≠

𝟒

𝟓
 

 

18. 𝒑 dk w[Zb gsk eo' i/ ;wheoBK 𝟒𝒙 + 𝒑𝒚 + 𝟖 = 𝟎, 𝟐𝒙 + 𝟐𝒚 + 𝟐 = 𝟎 dk ftbZyD jZb j?< 

𝐅𝐨𝐫 𝐰𝐡𝐚𝐭 𝐯𝐚𝐥𝐮𝐞 𝐟𝐨𝐫 𝒑: 𝐭𝐡𝐞 𝐞𝐪𝐮𝐚𝐭𝐢𝐨𝐧𝐬 𝟒𝒙 + 𝒑𝒚 + 𝟖 = 𝟎 𝐚𝐧𝐝 𝟐𝒙 + 𝟐𝒚 + 𝟐 = 𝟎 𝐡𝐚𝐬 𝐮𝐧𝐢𝐪𝐮𝐞 𝐬𝐨𝐥𝐮𝐭𝐢𝐨𝐧  

a) 𝒑 = 𝟒   b)  𝒑 ≠ 𝟒  c)  𝒑 ≠ 𝟐  d)  𝒑 = 𝟐 

 

19. 𝒌 d/ fe; w[Zb bJh ;wheoBK 𝒌𝒙 + 𝟑𝒚 = 𝒌 − 𝟑, 𝟏𝟐𝒙 + 𝒌𝒚 = 𝒌 d nB/eK jZb jB< 

𝐅𝐨𝐫 𝐰𝐡𝐚𝐭 𝐯𝐚𝐥𝐮𝐞 𝐟𝐨𝐫 𝒌: 𝐭𝐡𝐞 𝐞𝐪𝐮𝐚𝐭𝐢𝐨𝐧𝐬 𝒌𝒙 + 𝟑𝒚 = 𝒌 − 𝟑 𝐚𝐧𝐝 𝟏𝟐𝒙 + 𝒌𝒚 = 𝒌 𝐡𝐚𝐬 𝐢𝐧𝐟𝐢𝐧𝐭𝐢𝐞𝐥𝐲 𝐦𝐚𝐧𝐲    

𝐬𝐨𝐥𝐮𝐭𝐢𝐨𝐧𝒔.   

a) 𝒌 = 𝟎   b)  𝒌 = −𝟔  c)  𝒌 = 𝟔  d)  𝒌 = 𝟎, 𝟔 

 



20. 𝒑 d/ fe; w[Zb bJh ;wheoBK 𝟒𝒙 − 𝒚 = 𝟔 ns/ 𝟖𝒙 + 𝒑𝒚 = 𝟗 dk ftbZyD jZb j?< 

𝐅𝐨𝐫 𝐰𝐡𝐚𝐭 𝐯𝐚𝐥𝐮𝐞 𝐟𝐨𝐫 𝒑: 𝐭𝐡𝐞 𝐞𝐪𝐮𝐚𝐭𝐢𝐨𝐧𝐬 𝟒𝒙 − 𝒚 = 𝟔 𝐚𝐧𝐝 𝟖𝒙 + 𝒑𝒚 = 𝟗 𝐡𝐚𝐬 𝐮𝐧𝐢𝐪𝐮𝐞 𝐬𝐨𝐥𝐮𝐭𝐢𝐨𝐧   

a) 𝒑 ≠ 𝟐   b)  𝒑 ≠ −𝟐  c)  𝒑 ≠
𝟏

𝟐
  d)  𝒑 ≠ −

𝟏

𝟐
 

 

21. ;wheoBK 𝟑𝒙 + 𝟐𝒚 = 𝟓 ns/ 𝟔𝒙 − 𝟒𝒚 = 𝟓 dk HHHHHHHHHHHHH j?.  

The solution of equations 𝟑𝒙 + 𝟐𝒚 = 𝟓 𝐚𝐧𝐝 𝟔𝒙 − 𝟒𝒚 = 𝟓 is 

a) ftbZyD jZb  Unique Solution   b)  e'Jh jZb BjhA No Solution  
c)  nB/eK jZb Infinitely many solutions  d) d' jZb Two Solutions 

 

22. ;wheoBK 𝟒𝒙 − 𝟓𝒚 − 𝟗 = 𝟎, 𝟖𝒙 − 𝟏𝟎𝒚 − 𝟗 = 𝟎 dk HHHHHHHHHHHHHHH j?. 

The solution of equations 𝟒𝒙 − 𝟓𝒚 − 𝟗 = 𝟎 𝐚𝐧𝐝 𝟖𝒙 − 𝟏𝟎𝒚 − 𝟗 = 𝟎 is… 

a) ftbZyD jZb  Unique Solution  b)  e'Jh jZb BjhA No Solution  

 c) nB/eK jZb Infinitely many solutions  d) d' jZb Two Solutions 

 

23. ;wheoBK 𝒙 +
𝟏

𝟑
𝒚 = 𝟓 ns/ 𝟑𝒙 + 𝒚 = 𝟓 dk nkb/y HHHHHHHHHHH j?. 

The graph of equations 𝒙 +
𝟏

𝟑
𝒚 = 𝟓 𝐚𝐧𝐝 𝟑𝒙 + 𝒚 = 𝟓 𝐢𝐬: 

a) ekNthnK o/yktK Intersecting Lines c) ;wKso o/yktK  Parallel lines 

b) ;zgksh o/yktK Coincident lines  d) e'Jh BjhA None of these 

 

24. ;wheoBK 𝟐𝒙 − 𝟓𝒚 − 𝟖 = 𝟎 ns/ 𝟔𝒙 + 𝟏𝟓𝒚 − 𝟖 = 𝟎 dk nkb/y HHHHHHHHHHHHH j?. 

The graph of equations 𝟐𝒙 − 𝟓𝒚 − 𝟖 = 𝟎 𝐚𝐧𝐝 𝟔𝒙 + 𝟏𝟓𝒚 − 𝟖 = 𝟎 𝐢𝐬: 

a) ekNthnK o/yktK Intersecting Lines c) ;wKso o/yktK  Parallel lines 

b) ;zgksh o/yktK Coincident lines d) e'Jh BjhA None of these 

 

25. ;wheoBK 𝟑𝒙 + 𝟐𝒚 = 𝟗 ns/ 𝟔𝒙 + 𝟒𝒚 = 𝟏𝟖 dk nkb/y HHHHHHHHHHHHH j?. 

The graph of equations 𝟑𝒙 + 𝟐𝒚 = 𝟗 𝐚𝐧𝐝 𝟔𝒙 + 𝟒𝒚 = 𝟏𝟖 𝐢𝐬: 

a) ekNthnK o/yktK Intersecting Lines c) ;wKso o/yktK  Parallel lines 

b) ;zgksh o/yktK Coincident lines  d) e'Jh BjhA None of these 

 

26.  ;wheoBK 𝒙 = 𝟑 ns/ 𝒙 = −𝟒 dk nkb/y HHHHHHHHHHHHH j?. The graph of equations 𝒙 = 𝟑 𝐚𝐧𝐝 𝒙 = −𝟒 𝐢𝐬: 

a) ekNthnK o/yktK Intersecting Lines c) ;wKso o/yktK  Parallel lines 

b) ;zgksh o/yktK Coincident lines  d) e'Jh BjhA None of these 

 

27. ;wheoBK 𝒚 = 𝟐 ns/ 𝒚 = 𝟓 dk nkb/y HHHHHHHHHHHHH j?. The graph of equations 𝒚 = 𝟐 𝐚𝐧𝐝 𝒚 = 𝟓 𝐢𝐬:  

a) ekNthnK o/yktK Intersecting Lines c) ;wKso o/yktK  Parallel lines 

b) ;zgksh o/yktK Coincident lines  d) e'Jh BjhA None of these 

 

28. ;wheoBK 𝟐𝒙 = 𝟒 ns/ 𝟑𝒚 = −𝟗 dk jZb eo'. The solution of equations 𝟐𝒙 = 𝟒 𝐚𝐧𝐝 𝟑𝒚 = −𝟗 𝐢𝐬: 

a) (𝟐, −𝟑)   b)  (−𝟐, 𝟑)  c)  (𝟑, −𝟐)  d)  (−𝟑, 𝟐) 



 

29. ;wheoBK 𝒙 = 𝟎 ns/ 𝒚 = 𝟎 dk jZb eo'. The solution of equations 𝒙 = 𝟎 𝐚𝐧𝐝 𝒚 = 𝟎 𝐢𝐬: 

a) (𝟎, 𝟎)   b)  (𝒙, 𝒚)  c)  (𝟏, 𝟏)  d)  e'Jh BjhA 
 

30. ;wheoB 𝟐𝒙 = 𝟑𝒚 dk nkb/y The graph of equation 𝟐𝒙 = 𝟑𝒚 𝐢𝐬: 

a) 𝒙 − X[o/ d/ ;wKso Parallel to 𝒙 −axis   b)  𝒚 − X[o/ d/ ;wKso Parallel to 𝒚 −axis  
b) w{b fpzd{ ftZu'A dh bzxdk j?. Passes throu’ origin  d) e'Jh BjhA none of these 

 

 

 

 

 

 

 


